=
<

(0 @) (rad)

1072 :

=
<

a(d cot(d))

105

105

10

Ratl

10

0.95
-3

P : ? g F : é

L H i s nd L H 1 :

MRRESS & T i1 SERTRR SRR RE ||+ | SR 114 SERIRR
-2 -1 0 -2 -1 0

T 5 3 0.9
TP n (PCA to beamline)

1 2 3
TP n (PCA to beamline)

R —

DQM_V0001_R000000001__Global__mkFit1000__RECO
—— DQM_V0001_R000000001__Global__mkFit100__ RECO

=
<

SICEWATL

z

oo a,) (cm)

1074

o p/p.)

1 2 3

=

e | 1 A T
3 2 -1 0 T 2

3
TP n (PCA to beamline)

1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


